


CoD SS e 1



()

()

()

)

)

)

40

CoD SS

30

st7( )

/.\./.\.
,o—o/‘\v,o—o\____ —%- ——2

20

— o —

10

0

y =0.0845x + 24.657

1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

40

30

20

10

0

y =0.0596x + 26.354

1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

40

30

sti( ) e

20

10

0

19
40

78 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

30

St.7( )

20

10

0

19
40

78 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

30

St.9( )

20

10

0

40

30 4

20

10

0
19

78 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

1.1(0) [ | (



¢

)

)

)

)

)

40

30 B-2( ) a9 o L o Py
V o v
20
10
y=0.0175x + 29.801
0 +—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
40
a B o 8 o O S o o P o —9—9
—@ hd — — ——0——
30
20
10 { )
y=0.0315x + 33.42
0 +—+—+—+—+—+—+—+—+—t+—+—+—+—+—+—+—+—+—+—+—+—+—+—
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
40
_g.__n__*._n_.z‘_&.?.ég p—0—o _o—9©
30 —— ~——— v
20
10 ( )
y=0.0263x + 31.392
o+ —+++—+—+—+—+—+—+—+——
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
40
A2( )
30 e P — e S S SSEEM S S
o«
20
10 y=0.1609x + 25.778
0 +—+—+—+—+—+—+—+—+t+—+—t+—+—+—+—+—+—+—+—+—+—+—+—
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
40
B-2( ) .
? e -7t ————]
20
10 y = 0.1646x + 25.639
0 +—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
40
B-3
PP U —— - ~
Iz
20
10 y=0.1782x + 25665
0o +—+—+—+—+—+—+—+—++—+—+—+—+—+—+—+—+—+—+—+—+—+—
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

1.1(2)



T-N(mg/L) T-N(mg/L) T-N(mg/L) T-N(mg/L) T-N(mg/L)

T-N(mg/L)

2.00

1.50

1.00

0.50

st7( )

0.00
19

2.00

78 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 20

1.50

1.00

0.50

0.00

| st.9(

19
2.00

1.50

1.00

0.50

78 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 20

St.1(

)

0.00

1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

2.00

1.50

1.00

0.50

0.00
19

2.00

1.50

1.00

0.50

0.00
19

2.00

1.50

1.00

0.50

st.7(

)

78 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 20

St.9(

)

0.00

1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

1.2(1)



T-N(mg/L) T-N(mg/L) T-N(mg/L) T-N(mg/L) T-N(mg/L)

T-N(mg/L)

2

02

02

02

15 1820 ) y =-0.0087x +0.4118
14
05+
-\./. =9 .——“\Y,.\
0+ —+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 20
2
L5 ) y=0.0097x + 0.0173
14
05+
—t o b s,
0 = ——————————————
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 20
2
s ¢ ) y = 0.0087x +0.1069
14
05
. k““v a ©—8
P e r———————. N
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
2
is A2( ) y = -0.0085x + 0.657
1 /\
05 ——F—\ [ A Ao o -
N Voo =

0 +—+——————————————————————
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 20
2
L5 B2( ) y =-0.0031x + 0.5603
14
05 e . o /\.\ - 22— o

. N > — — v‘h.v.—-.—
0 +—+—————————————————————+—
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 20
2
is B-3( ) y = -0.0049x + 0.6243
1
05 - .\__,/'\e—e/'/\\ o—8. o9 S ——
0 +—+—————————————————————+—

1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

1.2(2)



T-P(mg/L) T-P(mg/L) T-P(mg/L) T-P(mg/L) T-P(mg/L)

T-P(mg/L)

0.2

ogs L6 ) y = -0.0014x + 0.1098
01 f
)
0.05 +
O+
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
02
St.Q(\ ) -.
015 \ /\ y =-0.0018x + 0.1067
o o W
0.05 '
O+
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
02
sti( ) =-0.0001x + 0.0386
0.15 y
01
005 -
SN S ———S——
0 +—+————+————————+—+—+—+—+——+——+—+—
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
02
st7 =-0.0015x + 0.0798
015 L () y
01
0.05 wv%
O+
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
0.2
o5 St ) y = -0.0014x + 0.1002
o1 ﬁ/ﬂ/\\wx\
0.05 v V’\
0 +—+———+—+—+———————+—+—+—+—+——+——+—+—
1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002
0.2
B-1 =-0.0002x + 0.0467
015 L () y
01
0.05 D N AN -
— ' <J —— —b——
0 +—+————————————+—+—+—+—+——+——+—+—

1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 20

1.3(1) [ 1 T-P

02



T-P(mg/L) T-P(mg/L) T-P(mg/L) T-P(mg/L) T-P(mg/L)

T-P(mg/L)

0.2

0.15

B-2(

y =-0.0003x + 0.0482

0.1 +

0.05

19
0.2

78 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 20

y =0.0002x +0.0128

0.15

0.1 +

0.05

-

.
+—+

Py
ad —
1 | |

-~
L

19
0.2

78 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 20

02

0.15 4

0.1

y =-8E-05x + 0.0287

0.05

19
0.2

02

0.15 4

0.1

y =0.0003x +0.0644

/./.\.\‘v /.\v%_

i

N *

0.05

19
0.2

78 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 20

02

0.15 4

0.1

y =0.0002x + 0.0737

—2

o

0.05

19
0.2

02

0.15

0.1

0.05

0

1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

1.3(2)



(m)

(m)

(m)

(m)

(m)

(m)

st7( )

1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

sto( )

1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

sti( )
31
./’/./.\ F A /.\ /./H

y=0.0221x + 2.1376

1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

St.7( ) y=0.0131x + 1.4244
34
2 'y /.\\ !/.
. S e e N’\f ~
& ¥
0 ——tt+—+——+—+——+—+—+—+—+—+—+—F—+—+—+—+—

1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

| St.9( ) y =-0.0085x + 1.4286

? | oo o o2 /

N Py o o
o~ ~o”

1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

1

0 ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! ! !

1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

1.4 [ 1



(m)

(m)

(m)
o N b~ OO

O N B~ O ©

(m) (m)

(m)

B-2( ) °

19

12
10

1

12
10

1

78 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

\ A
)

Y s\
et . — ~

nNnERa
y —U.UJS0OXR ™™
| | | |
T T T T

978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 20

02

y=-0.0067x+ 35162

[\

— > A =g 5 o
— o7

978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 20

02

34

A2( )

02

02

1

0

1978 1980 1982 1984 1986 1988 1990 1992 1994 1996 1998 2000 2002

1.4 [ 1



T-N(mg/L)

T-N(mg/L)

T-N(mg/L)

T-N(mg/L)

2.00

1.50

1.00

0.50

0.00

S63 S55 S57 S59 S61 S63  H2

2.00

1.50

1.00

0.50

0.00

2.00

1.50

1.00

0.50

0.00

2.00

1.50

1.00

0.50

0.00

St.10(

)

y =-0.0068x + 1.0543

H4 H6 H8 H10 H12 H14 H16

y = 0.0006x + 0.1341

S53 S55

S57 S59 S61 S63 H2 H4 H6 H8 H10 H12 H14 H16

y=-0.0017x +0.3

S53 S55

S57 S59 S61 S63 H2 H4 H6 H8 H10 H12 H14 H16

y =-0.0096x +1.0798

S53 S55

S57 S59 S61 S63 H2 H4 H6 H8 H10 H12 H14 H16

1.5

[ 1 T-N(



T-P(mg/L)

T-P(mg/L)

T-P(mg/L)

T-P(mg/L)

0.20
st10( )
0.15 y'=-0.0007X + 0.1166
010 |
0.05 r w‘véq%
0.00 11—
S53 S55 S57 S59 S61 S63 H2 H4 H6 H8 HI10 H12 H14 H16
0.20
St. ()
0.15 y = -0.0004x + 0.0597
0.10
0.05 |
0.00 —ttt 4 44—
S53 S55 S57 S59 S61 S63 H2 H4 H6 H8 H10 H12 H14 H16
0.20
015 r y =-0.0002x + 0.0371
0.10 |
0.05
0.00 R S ST SN ST SRS A A A, S A
S53 S55 S57 S59 S61 S63 H2 H4 H6 H8 H10 H12 H14 H16
0.20
015 | y =-0.001x + 0.109
0.10 |
0.05
0.00 —tttt 1 41—
S53 S55 S57 S59 S61 S63 H2 H4 H6 H8 H10 H12 H14 H16
1.6 L 1 T-P( )

10



BAT

ERR
. (ST1~ST11) .
33-00'N

e

32%s0°

32540

'

32230°

R e N . N
R e T S S i e o

2.1

11



Do ST.1 7 DO ST.1
(mg/L) (mg/L)
10.00 10.00
y = -0.0461x + 4.9661
/ﬁ\\\ R? = 0.1175
8.00 .00
6.00 V/ 6.00
Q o
a a /\
4.00 4.00 A
y = -0.0284x + 8.1866
R? = 0.1172
2.00 2.00 v
0.00 Lo L S RS R o0 Lo e e s e e
~ @ o4 ® o~ @ o ® o ¥ © © o N % ~ 2@ o4 ® v o~ @ o ® o ¥ © ©® o o %
5 2 3 3 8 5 3 2 @ £ ¥ £ 2 g 9 3 S 2 83 8 8 5 3 8 @ £ ¥ 2 2 g 9 3
3 8 8 8 8 8 8 8 £ 2 = 3 3 8 8 8 8 8 8 3 £ £ 7
5 DO ST.1 8 hlo) ST.1
(ng/L) (ng/L)
10.00 10.00
y = 0.0252x + 4.0592
/\ R? = 0.0484
8.00 8.00
6.00 / 6.00
: VAN
g 2
4.00 4.00
y = -0.0068x + 6.8392 \/ \/
R® = 0.0041
2.00 2.00
0.00 Lo P R S S oo Lo e e s s
3 3 B B B 5 8 2 8= % 2 2 3 4d 3 3 § B8 85 83§8= £ 28 333
6 DO ST.1 9 DO ST.1
(mg/L) (ng/L)
10.00 10.00
= -0.0029x + 5.1208 y = 0.0418x + 4.354
R? = 0.0007 R? = 0.0986
8.00 8.00
A A A
6.00 6.00
e P A JARVAWA o
) \ ] / \/ V1 ;
4.00 4.00
J V V V
2.00 2.00
oo Lo e e e e 00 Lo e e s s e e
~ (=] — 3] n ~ (2] — 32 o = © © o o < ~ (=) -~ 2] n ~ o — 3] o = © @ o o <
5 2 3 8 8 5 3 3 8 £ FfF 2 2 2 9 3 S 2 3 8 8 5 3 8 @ £ ¥ 2 2 g 9 3
S 3 8 8 8 8 8 8§ 8 £ £ 3 3 8 8 8 8 8 8 8 £ £

2.2 ST.1

12

DO




Do ST.2 ST.2
(mg/L) (ng/Ly
10.00 10.00
y = -0.0047x + 4.1532
R? = 0.0009
8.00 8.00
6.00 6.00 A
8 8 /\A A /\ﬂ
i : AN
4.00 4.00 b
y = -0.0303x + 8.3128 v v
R? = 0.09
2.00 F 2.00 |
0.00 L . 0.00
~ (=) — [3e] 0 ~ [=2] — o = © © o o~ < ~ = - ©@ w ~ 2 ~ o~ = ©o @ =3 o~ <
5 2 3 2 B 5 3 3 g ¥ 2 2 2 8 3 5 2 83 83 8 5 2 3 g T 2 2 3 9 3
S 3 8 8 8 8 8 8 g £ T 3 F 8 8 8 8 8 8 T £ T
DO ST.2 ST.2
(ng/L) (mg/L)
10.00 10.00
y = 0.0487x + 3.4554
R? = 0.096
8.00 8.00
6.00 6.00 A
8 g
4.00 4.00
y = 0.0145x + 6.3665
R? = 0.0154
2.00 | 2.00
0.00 L L 0.00 Lo L
3 38 8 85 § B = 2 2 B 3 3 3 3 3 B 8 8 8 2 2 % 2 2 3 39 3
Do ST.2 ST.2
(mg/L) (mg/L)
10.00 10.00
y = 0.0145x + 4.9126 y = 0.0389x + 4.5059
R’ = 0.0128 R? = 0.0743
8.00 8.00
6.00 A 6.00
o /\\ A o //
g \/ 2
4.00 \/ 4.00
2.00 F 2.00
0.00 L - 0.00 Lo -
5 2 8 B #® 5L 3 g @ £ F £ 2 2 9 3 5 2 3 83 8B 5 8 3 @ £ T 22 g 8 3
S 3 8 8 8 8 & 8 8 ¥ T 3 F & 8 8 8 8 & & F 2 T

2.3 ST.2

13




4 DO ST.3 7 DO ST.3
(mg/L)y (mg/L)
10.00 10.00
y = 0.0274x + 4.4614
R? = 0.038
8.00 | /%XY 8.00 |-
6.00 6.00 { 2
g g
4.00 - 4.00 -
y = -0.0212x + 8.4397
R? = 0.0763
2.00 F 2.00
0.00 L L L 0.00 b L L
N 2 4 @ b o~ @ o4 ® 8 ¥ © ©® o o N 2 o9 m oW o~ @ o9 o oN ¥ © ® o N %
< < wn wn wn n rel ©o ©o s E= S S =] f=] ~ < < wn n n wn n © © == == == == — — —
S S 8 8 8 8 8 8 8 g 2 2 S 3 8 8 8 8 8 8 8 T £ 2
5 DO ST.3 8 DO ST.3
(mg/L) (mg/L)
10.00 10.00
y = 0.0018x + 4.9894
R? = 0.0002
8.00 8.00
6.00 6.00 —////\ /\\ /’/\\
3 y = 0.0107x + 6.9605 3
R? = 0.0209 \ ] / \J
4.00 4.00 \//
2.00 2.00
0.00 Lo L e 0.00 Lo v L e
N @ o ® w0~ @ o o & ¥ © ® o o ~ 2@ o9 @ w0~ @ o4 @ & F © ® o o 3
5 2 3 3 8 5 3 3 3 £ £ g2 2 3 8 3 5 2 3 8 8 5 3 3 8 2 F 2 2 3 9 3
S S 8 8 8 8 8 & 8 g £ 2 S 3 8 8 8 8 8 8 8 R
6 DO ST.3 9 DO ST.3
(mg/L) (mg/L)
10.00 10.00
y = -0.0122x + 6.0222 y = 0.0033x + 5.5246
R? = 0.019 R? = 0.001
8.00 8.00
6.00 /\\\ 6.00 [
Q \J o
8 2
4.00 4.00
2.00 2.00
0.00 Lt L L 000 b v . S
N 2 o ® o w o~ @ o4 ® N ¥ © ® o o ~ 2 o @ w0~ @ o ® & ¥ © ® o o 9
5 2 3 8 8 5 3 g 8 £ T 22 2 9 3 5 2 8 2 8 5 23 3 @ £ FT £ 2 3 9 3
S 3 8 8 8 8 8 8 8 £ 2 2 0 8 8 8 8 8 8§ 8 F 2z

2.4 ST.3

14

DO




6 DO ST.4 7 DO ST.4
(mg/L) (mg/L)
10.00
10.00 y = 0.0066x + 4.7219
/\ /\ R? = 0.0042
8.00 8.00
6.00 6.00 A
y = -TE-05x + 8.2986 o /
2
R? = 16-06 \/
4.00 | 4.00
2.00 | 2.00 |
000 Lo e e e s s P S S S S SR R R R
N @ o @ b o~ @ o4 ® & ¥ © ® o o ~ @ o @ o o~ @ o4 @ N ¥ © ® o o
< < wn wn wn n wn © © s = S S =4 f=] — < < wn n n n wn © © = = = = - - -
S S 8 8 8 8 8 8 8 F 2 F S S 8 8 8 8 8 8 8 £ 2 =
5 DO ST.4 8 DO ST.4
(ng/L) (mg/L)
10.00
10.00 y = 0.0001x + 4.9439
R® = 1E-06
8.00 8.00
6.00 6.00 /\\
: \
4.00 4.00 v
y = 0.0233x + 6.6607
R? = 0.0638
2.00 2.00
0.00 o0 Lo e ey e
~ @ o @ v o~ @ o @ N ¥ © ® o o N @ o @ b o~ @ o4 ®m & ¥ © ® o N %
5 2 3 83 8 5 3 2 38 2 T 2 2 3 9 3 5 2 3 83 8 5 2 2 @ £ T £ 2 g 8 3
1% 2] " w " " o w " - B - 1% %] (%] %] 1] (%] %] (723 (723 = == ==
6 DO ST.4 9 DO ST.4
(mg/L) (mg/L)
10.00 10.00
y = -0.0028x + 6.1382 y = 0.0389x + 4.5059
R? = 0.0006 R? = 0.0743
8.00 /A\ 8.00
6.00 /\\ A / 6.00
VoV S I N S S R i
8
4.00 | 4.00
2.00 2.00
0.00 P S S S SR R R R
~ @ o @ b o~ @ o @ o ¥ © ©® o N % ~ @ o @ oo~ @ o4 moN ¥ © ® o N %
5 2 3 3 8 5 8 3 @ £ T 22 3 3§ 3 5 2 3 3 8 5 @ 8 @ £ T £ 2 3 8§ 3
S S 8 8 8 8 8 8 8 F 2 F S 3 8 8 8 8 8 8 8 £ ¥ T

2.5 ST.4

15




4 DO ST.5 Do ST.5
(mg/L) (mg/L)
10.00 10.00
y = -0.0165x + 4.5985
R? = 0.0072
8.00 | 8.00
6.00 6.00
y = -0.0237x + 8.5506
R® = 0.1084 /\
4.00 4.00 \J \x//\\/ \//
2.00 F 2.00 F \\//
P J R P SR 0.00 Lo . - R
~ 2 o @ o o~ @ o N Y © ® o o N @ 4 @ w0~ @ o @ 8 ¥ © © o N ¢
5 2 8 8 B 5 23 3 ¢ ¥ 2 2 2 8 3 5 2 3 28 8B b 3 8 @ £ F 2 2 8 9 3
S 3 8 8 8 8 8 8 £ 2 T S S 8 8 8 8 8 8 8 £ 2 T
D0 ST.5
(ma/Ly 5 bo ST-5 (mg/Ly
10.00 10.00
y = -0.0031x + 4.0211
R? = 0.0007
8.00 8.00 I
6.00 6.00 [
4.00 4.00 F
y = -0.0161x + 7.0726
R? = 0.0451
2.00 2.00
P R PR 0.00 L— - P
3 3 8B % %88 3% B = 2 2 2 Z2 3 32 33 8 8 8 8 8 3 = £ Q3 F 2
6 DO ST.5 D0 ST.5
(mg/L) (mg/L)
10.00 10.00
y = 0.0053x + 5.3546 y = 0.0099x + 4.8888
R? = 0.0021 R? = 0.0056
8.00 8.00
vt/ A
| T AT
2.00 | 2.00
oo L e e PR 0.00 L . - L
~ @ o @ o~ o o ® & ¥ © ® o N % ~ @ o ® b 0~ o o ® & ¥ © ©® o o %
3 3 8 8 8 8 8 g 8 T T = = F 2 7 3 3 8 8 8 8 v g g = = T T g g 7

2.6

16




4 DO ST.6 7 DO ST.6
(mg/L) (mg/L)
10.00
10.00 y = -0.0404x + 6.0395
R? = 0.1047
8.00 8.00
6.00 6.00 /\
y = -0.0086x + 8.1538
R? = 0.0147
4.00 4.00 |
2.00 2.00
0.00 = . oo b
N~ 2 o4 ®m b o~ @ o4 ® N ¥ © ® o &N % ~ @ o9 ® B o~ @ o ® N ¥ © ® o N %
5 2 3 8 8 5 3 g8 @ 2 T 2 2 2 8 3 5 2 3 8 8B 5K 3 8 8@ £ T 2 2 8 8 3
S 05 8 8 8 8 8 & 8 £ 2 7 S 3 8 8 8 8 8 8 8 £ ¥ 7
(rary 5 DO ST.6 oo 8 DO ST.6
10.00
10.00
y = 0.0186x + 5.0521
R? = 0.0494
8.00 8.00
6.00 6.00 /A
4.00 | 4.00 / \/
y = -0.0000x + 7.174 V
R? = 0.0001
2.00 | 2.00
0.00 o0 Lo e e s e
~ @ o9 @ v 0~ @ o4 ®m o ¥ © ©® o o ~ 2 o9 @ L o~ @ o m oN ¥ o © ® o N %
S 2 3 8 B 5 3 3 @ £ T 2 2 8 9 3 5 2 83 3 8 5 3 3 8 £ ¥ 2 2 g2 9 3
3 % 8 8 8 8 8 8 8 £ 2 T S 5 8 8 8 8 8 8 8 F £ =
6 DO ST.6 9 DO ST.6
(mg/L) (ng/L)
10.00 10.00
y = -0.006x + 6.2753 y = 0.0212x + 5.121
R? = 0.0042 R? = 0.1152
8.00 8.00
/\ /\ A /\
6.00 \/\\/ 6.00
4.00 | 4.00
2.00 2.00
0.00 = . 000 Lo e e e e
~ 2@ o @ v o~ © o4 ® 8 ¥ © © o o % ~ 2 o4 © b 0~ @ o9 @ o ¥ © @ o N %
5 2 3 8 8 5 3 83 @ £ ¥ 2 2 g8 9§ 3 S 2 34 2 8 5 3 3 @ £ T 2 2 8 9 3
S 5 8 8 8 8 8 8 8 £ 2 F S 3 8 8 8 8 8 8 8 F 7 T

2.7 ST.6

17

DO




Do ST.7 DO ST.7
(mg/L) (mg/L)
10.00 10.00
y = -0.0277x + 5.4067
R? = 0.037
8.00 | — 8.00
6.00 6.00 [
y = -0.0146x + 8.3505
R® = 0.0386
4.00 4.00 v v v
2.00 2.00 |
0.00 = R P SR RS R SRR SR 0.00 Lt . - L
N 2 o ® @ o~ @ o4 ® N ¥ © ® o o ~ @ o @ v o~ @ o @ o © ©® o o ¥
5 2 3 8 8 5 3 g 8 £ T 22 2 9 3 5 2 8 3 8 5 3 2 38 = € 2 3 8 3
3 F 8 8 8 8 8 8 8 £ £ 2 F F 8 8 8 8 8 & & -
D0 ST.7 DO ST.7
(ma/L) (ng/L)
10.00
10.00
y = 0.0348x + 4.4786
R? = 0.067
8.00 |
8.00
6.00 [ 6.00
4.00 4.00
y = 0.0081x + 6.906
R? = 0.0115
2.00 2.00
0.00 — R P S SR R S 0.00 Lt v - L
N @ o ® o o~ o o m N ¥ © ® o o % N 2 o ® v o~ o o ~ © ® o N ¥
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DO ST.7 DO ST.7
(ng/L) (mg/L)
10.00 10.00
y = -0.001x + 5.8512 y = 0.0203x + 5.017
R? = 9E-05 R? = 0.0579
8.00 8.00
6.00 \_/ A A /\ A\///\\/A\/ 6.00
4.00 \/\/ \/ 4.00
2.00 | 2.00
0.00 = R P R RS SR SR 0.00 L1 . - L
3 3 8 8 85 888 % 22 3493 3 38 8 8 5838 ® = 2 2 3 g 3
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DO




Do ST.8 DO ST.8
(mg/L) (mg/L)
10.00 10.00
y = -0.0062x + 5.5137
R? = 0.0047
t 8.00 [
8.00 AN
6.00 | 6.00 [
4.00 - 4.00 |
y = -0.0182x + 8.1925
R? = 0.0501
2.00 2.00 |
0.00 — . - L 0.00 bt . - L
N @ o ® v o~ o o ~ © ® o N % 5~ @ o ® v o~ o o N ¥ © ©® o o %
5 2 3 8 8 5 3 3 B 2 2 2 8 3 5 2 8 8 8 5 3 3 g T 2 2 8 8 3
3 F 8 8 8 8 8 8 £ £ 2 F F 8 8 8 8 8 38 g £ =
(rary D0 ST.8 ooy DO ST.8
10.00
10.00
y = 0.033x + 4.591
R? = 0.1415
8.00 8.00
6.00 6.00
4.00 4.00
y = -0.004x + 7.091
R? = 0.0048
2.00 2.00
0.00 = . - e 0.00 Lot - - L
~ @ o @ 1w o~ o o o © ® o o = N @ o ® v o~ o o N ¥ © ® o o =
5 2 3 8 8 5 2 3 g g 2 2 98 3 5 2 3 2 8 L 2 3 g £ 2 2 g8 8 3
3 F 8 8 8 8 8 & g £ = S 3 8 8 8 8 8 8 £ 2 2
DO ST.8 D0 ST.8
(mg/L) (mg/L)
10.00 10.00
y = -0.0342x + 6.3705 y = 0.03x + 4.7057
R? = 0.0678 R = 0.0904
8.00 8.00
.00 AN A oo |
4.00 4.00
2.00 | 2.00
0.00 = . - R R 0.00 bt . - L
N 2 o m o o~ o 4 m oN ¥ o © ® o N % ~ 2 o @ @ o~ @ o4 ®m N 3§ © ® o N %
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d S 8 8 8 8 8 8 8 £ 2 2 d S 8 8 8 8 8 8 8 R
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DO




4 DO ST.9 7 DO ST.9
(mg/L) (mg/L)
10.00 10.00
y = -0.0086x + 4.6023
R? = 0.0049
8.00 | t
— 8.00
6.00 6.00
y = -0.0123x + 8.1386 /x /\
R? = 0.0306
4.00 - 4.00 |
2.00 | 2.00
000 b v v L L 000 b v v v . R P
N 2 o ® @ o~ @ o4 ® N ¥ © ® o o ~ 2 o @ v o~ @ o m 0§ ¥ © ® o o ¥
5 2 3 8 8 5 3 g 8 £ T 22 2 9 3 5 2 83 3 8 5 3 2 @ £ FT £ 2 g 9 3
3 F 8 8 8 8 8 8 8 £ 2 2 d d 8 8 8 8 8 8 & £ 2 T
T .
(s> 5 DO ST.9 R 8 DO ST.9
10.00
10.00
y = 0.0158x + 4.4107
R? = 0.0207
8.00
8.00
6.00 6.00 |
4.00 4.00
y = 0.0103x + 6.665
R? = 0.0202
2.00 2.00
000 b v - L P A R R
N~ @ o @ b 0~ o o ®m & ¥ © ® o N % ~ @ o ® v o~ @ o4 o 8 ¥ © ® o o %
< < wn wn wn wn wn © © B E= ES ES p= -~ — < < n wn n n n o © == == == == — — —
S 3 8 8 8 8 8 8 8 2 £ = 3 5 8 8 8 8 8 8 3 T £ =
6 DO ST.9 9 DO ST.9
(mg/L) (ng/L)
10.00 10.00
y = 0.0003x + 5.5997 y = 0.0342x + 4.4871
R? = 1E-05 R = 0.1114
8.00 | 8.00
o | A A J\N
W, VAV AN A AT
4.00 4.00 |
2.00 | 2.00
oo b e oo b L P
N @ o @ v o~ © o ®m & ¥ © ® o N % ~ @ o ® o o~ @ o4 ® N 3 © ® o o %
5 2 3 3 8 5 3 8 @ £ ¥ 2 2 g & 3 5 2 3 B & 5 3 8 8 £ T £ 2 8 9 3
d dH 8 88 8 8 8 & & g 2 2 S 8 8 8 8 8 8 8 F 2 T
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DO




D0 ST.10 7 DO ST.10
(mg/L) (ng/L)
10.00 10.00
y = -0.0217x + 5.1095
R? = 0.0152
8.00 7 > 8.00 /ﬁ\
6.00 6.00 A /\\\
y = -0.0136x + 8.1818 / \ /\ / /
R? = 0.0322 N
4.00 | 4.00 | \/ d r‘;f
2.00 F 2.00 Y V
0.00 i PR 000 Lo e e e
8 DO ST.10
sy D0 ST.10 o
10.00 10.00
y = 0.0467x + 4.1615
| R? = 0.1236
8.00 /\\v//\\\\\\\ 8.00
6.00 \/ 6.00 /\
4.00 4.00
y = 0.015x + 6.551 \V/ \/
R? = 0.0279
2.00 2.00 V
0.00 Lo e oo Lo e s e e
5 02 2 02 28 5 2 2 8 § F ¢ 2 3 o yF 5 2 3 2 8 5 3 3 @ £ ¥ 2 2 g 3§ =
3 3 8 8 8 8 8 8§ 8 T T = T 2 Z g S 3 8 8 8 8 8 8 8 F £ F
6 DO ST.10 9 DO ST.10
(mg/L) (mg/L)
10.00 10.00
y = -0.0289x + 5.8969 y = 0.0326x + 4.5279
R? = 0.0453 R? = 0.0916
8.00 8.00
6.00 6.00
4.00 \/ \/ V \/ 4.00
2.00 F 2.00 F
0.00 Lo S S SR 000 Lo e e e e
N~ @ o @ b 0~ o o ®m & ¥ © ® o N % ~ @2 o @ v o~ o o ® & ¥ © ® o N %
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S 3 8 8 8 8 8 8 8 £ 2 T 3 3 8 8 8 8 8 8 8 £ 2 =
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DO




DO ST.11 7 DO ST.11
(mg/L) (ng/L)
10.00 10.00
y = -0.0049x + 5.6144
R® = 0.0011
8.00 8.00
6.00 | 6.00 |
\/\/V N
4.00 4.00
y = -0.0264x + 8.461
R? = 0.0869
2.00 | 2.00
0.00 L S 000 b S RS R
3 3 B 2 8B B g g e R 2 3 g 3 3 § 38845 8382 2 2 2 3 4d g
DO ST.11 8 DO ST.11
(mg/L) (mg/Ly
10.00 10.00
y = 0.0091x + 5.0852
R? = 0.0089
8.00 8.00
6.00 6.00
4.00 4.00
y = 0.0063x + 7.0665
R? = 0.0123
2.00 | 2.00
0.00 Lo T 0.00 b v P S RS SR
5 § 88858882 = 2 2 3 3Jg3 5 3 3 8 8% 83888 ¢% =2 2 3 g 3
DO ST.11 9 DO ST.11
(mg/L) (mg/L)
10.00 10.00
y = -0.0093x + 6.2836 y = 0.0023x + 5.5533
R? = 0.0099 R? = 0.0011
8.00 8.00
6.00 //\\// 6.00
4.00 4.00
2.00 | 2.00
0.00 Lo P S R R SR 000 b S S R S S S S S S
N @ o ® w o~ o o4 ®m N ¥ © ® o o % N 2 o m o o~ @ 4 m o oN ¥ o © ® o N %
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DO




